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Q1. It 4 auf & HU-t A BT 3Gd IdeH fobdmT 87
(a) 100

(b) 200

(c) 300

(d) 150

(e) 225
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Q2. 2018 T HUHT B HT ITGH, TY 2020 T Hdl ITG B fba-T Uia=Id g2
(a) 60%

(b) 75%

(c) 300%

(d) 150%

(e) 70%
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Q3. Tt 4 auf & HU A 3R HU B & Fd IdTEA & S fpaT 3iaR g2
(a)100

(b)200

(c)300

(d)400

(e)500
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Q4. 99 2018 3R 2019 ¥ TH Y ST ABT ¥ 2018 H HU-I B & Hd

JdTEA I 3T foheT 87
(@)2:3

(b)1:4

(c)1:3

(d)3:1

(e)1l:1
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Q5. It auf ¥ ST B &1 $d I, T+ auf § HUT A F Fd SdAGH °
forerT Uf=rd Sifie / & g2

(a)25%

(b)20%

(c)30%

(d)10%

(e)15%
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Directions(6-10): FHfiRad IR e faftya aut | faftd sufal g o=t 18
Hiegd @1 Oftd SHE &I Al §1 U6 &1 SMYdd T Hifog 3R
fAgferfad s & IR diforg|
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Q6. I¥ 2016 H 5 9 aTd Hd AIASA,2019 T 9 S aTd ol HESal Bl
forcT ufa=Td €2

(a) 25%

(b) 75%

(c) 50%

(d) 40%

(e) 60%
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Q7.2016, 2017 3R 2018 H T Y JHIT gRT o9 T aTd HGISal ol
2017, 2018 3R 2019 ¥ TH WY THSME GRT o9 O alal AiERd 4 30
foraT 872

(a) 63:44

(b) 44:63

(c) 44:47

(d) 47:63

(e) 51:80
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Q8. Tt auf & YT GRT 92 MU 3Md HiESd 3R 3T gRT 39 7Y 3{d
AIeISd & S foraT 3icR 872

(a) 105

(b) 1050

(c) 1550

(d) 155

(e) 1250
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Q9. e Th THI A B! PIHd 10,000 TV B, Th THITS HESd Bl
HIFd 8,000 TYY 3R UH 3R AESd P! S 6,000 U B, R 2019 H
Tt Sl gRT Ue WY Hfoid ot oiea fohaT 82

() 101600000 T

(b) 101500000 ¥

(c) 102600000 &

(d) 103600000 ¥

(e) 100500000 »
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Q10. VT 3R 3H gRT TH A1y it auf & 9 7T Fd AE=d & Ml GRI
S ST g MEgd I fHar siar 872

(a) 4000

(b) 9600

(c) 8000

(d) 8800

(e) 7700
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Directions (11-15): 39 Ul &1 IR & ol LRI ATH BT 3T HifoIT;
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Q11. FH Flelal o oIT 3R fFE a¥ & oo ay & o= Fr gEar H gfaed

?
?ﬁ&%%Aﬁia&m% H PicloT B
(b) ¥ 2004 H FHad Ficlal B
(c) aY 2004 # icial A 3R a¥ 2004 H Slelel B
(d) I 2007 H Slelal A 3R a¥ 2004 H FiceT B
() 313 O g =TT
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Q12. a¥ 2004, 2006 3N 2007 & Fielsl A & BIAT T el HEAT &I a¥ 2003,
73043113 2008 #H iclsT B & OTAl T el TEAT W 3T Fehclel g2

(b) 33: 37

(c)34:31

(d)32:35

(e) 32:37
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Q13. T3 aut & U ATY Fieiel A H STAT FT 3Td TE&T fhdsir 872
(a) 45,000

(b) 50,000

(c) 52,000

(d) 48,000

(e) 46,000
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Q14. 2005 & 2006 Teh hiclel B & STA! hl HEAT H HJATIIcl FTcerel Jefer &ar

?
£ s
(b) 12

(c)4

(d) 10

(e) 6
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Q15. a¥ 2008 H Flelsl B & STHT T T&ar @l asi & Teh ATY SHiclel B o FHol
g@gﬁgiﬁmﬂ gfaRrd §7 (S2HeId & I af 37ehi deh)

(b) 23.79

(c) 21.79

(d) 17.29

(e) 22.69
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Solutions

S1.Ans(b)
Sol. Average of company A of all 4 years = 100+150:150+400 = 200.




S2.Ans (a)
Sol. Production of Company B in 2018=300
Total Production in 2020= 400 + 100 = 500

Required percentage = % X 100 = 60%

S3.Ans(b)

Sol. Total production of Company A= 100+150+150+400 = 800
Total production of Company B=200+300+400+100= 1000
Difference =1000-800=200

S4.Ans(e)

Sol. Total production of company A in year 2018 and 2019 = 150+150=300
Production of Company B in year 2018=300

Required Ratio = 1:1.

S5.Ans(a)
Sol. Total production of Company A= 100+150+150+400 = 800

Total production of Company B=200+300+400+100= 1000
__ (1000-800)

~ required percentage = 00 < 100 = 25%

S6. Ans(c)
Sol. Total Mobile sold in year 2016 = 2600+ 2000+1600=6200
Total Mobile sold in year 2019= 4600+4400+3400 = 12400

~ required percentage = 162240000 X 100 = 50%

S7. Ans(b)
Sol. Mobile Sold by Samsung in 2016, 2017 and 2018 together = 8800
Mobile sold by Ml in 2017, 2018 and 2019 together = 12600
~ required ratio = 8800 : 12600
= 44:63

S8.Ans(b)

Sol. Average mobile sold by Samsung = ”
1600+1800+2400+3400 _ 9200
4

2600+2800+3400+4600 _ 13400
4

Average mobile Sold by Asus =
13400 _ 9200 _ 4200
4 4

Required difference = = 1050

S9.Ans(a)



Sol. Total revenue generated= 10000 x 4600 + 8000 x 4400 +
6000 x 3400 = 101,600,000 Rs

S10.An(c)

Sol. Total mobile sold by Samsung and asus= 22600
Total mobile sold by MI = 14600

Required difference = 8000

S11. Ans.(c)

Sol. By mental calculation we can see that

% Rise of students of College A is 2004 = 100%
% Rise of students of college B in 2004 = 100%

S12. Ans.(d)

Sol. Required ratio = (40 + 50 + 70): (30 + 60 + 85)
=160:175

=32:35

S13. Ans.(b)
Sol. Required average = % = 50units

=50 x 1000 - (unit = 1000)
= 50,000

S14. Ans.(a)
Sol. Required % =

100
13

70—65 x 100

S15. Ans.(c)
Sol. Required % = % X 100
=21.79%



